=294
SN - BB C9I(3H) - NRAIR - BaS Ol ko Gl
A} 13,791,515 12,583,048
= 3,278,234
z 754,000
7l 8,510
[ 1,112,820
= 8,637,951
HHH| (2SI 34,140 33,200
2 29,940 29,600
=3 29,940 29,600
201 L2 A 19,140 18,800
01 AFR22IHI 16,640 16,300
OJISARES 100,000 %210l 2,100
OAIRI1D] & SAZE 8,000,000 8,000
OJ|Et==2H| 1,500,000 1,500
OSEH|(BFAMYARE
8,0002%2121x304! 5,040
02 222 2,500 2,500
ORI S 2,500,000 2,500
202 04H| 10,800 10,800
01 2UH0IH 10,800 10,800
ozlobl(=s&l)
180, 0004 +5 4 Et+ 122 10,800
ol 2| 4,200 3,600
RIEEET] 4,200 3,600
203 2= 4,200 3,600
04 ENSHADREAIH 4,200 3,600
ORANS2ZLARF=E 350,000 % 12 4,200
BAES 7,378,631 5,466,819
= 3,105,450
z 754,000
7l 8,510
[ 1,040,308
= 2,470,363
A5 45,345 244,951
SABS AU 23,965 24,865
201 B2 A 5,965 6,865
01 AF222IH 5,965 5,865
OBt2H| 775
OXNSRHNBIIA REEY 4ot
55,0002 *50H 275
OXISRNEIIA 2 AQE ¢
100,00024+55 500
OORESE AtRIX2| &l A
495,00024x23] 990
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SN SEAM
HM: BHLS
ool BHEES (Cro|:m2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
OSFEH| A2 200,000 43| 800
O=FEH A28 22 200,0002*13] 200
OSZH|(BHFENAR)
8,0002%501%80A! 3,200
202 Ot 14,000 14,000
01 2LH0IH 14,000 14,000 0
OB ABHA R84
200,000 %501+ 122 12,000
ORI SHE &0
50,0002 %401+ 102 2,000
203 HREZFH| 4,000 4,000 0
03 AIHE=RSRETIH| 4,000 4,000 0
OSZBEAME SRFA 2,000,000 2,000
OBAIZAE2Y AREX
1,000,000 1,000
OJ|=8gt HRFA 1,000,000 1,000
R ET= =N IPES 21,380 23,910 A2,530
201 L2 S 21,380 23,910 22,530
01 AFR22IHI 8,480 8,480 0
OsAMHRYS HI|2 DXM M=
15024%7,00024+23] 2,100
OSANELL2 L2 DXM HIZ
15021%10,00024%23] 3,000
ODNETRIH ARE(EH S) 2
350, 0002 *37H 1,050
OSAINHRLYS SUoHY S0 HIZ
55,0002 % 14J4%23 1,540
OJAAF AR 2242 30,00021% 122 360
OZ2SZHE 22 L 242
30,0002 %122 360
OXSOIH AHR 242
5024%70024%23] 70
02 222 12,900 15,430 A2,530
OSAMMHRLY2 DRA LE SER2 12,900
0N A (™| 2-get)
4302%6, 50001 %23 5,590
00X A (HIg=-2et)
43021%8, 50004 %23 7,310
IEE NI 155,000 55,476 99,524
= 94,000
= 61,000
INEE H=ABAY B2AY 40,000 2,300 37,700
= 24,000
= 16,000
402 QI2FRH20| ™ 40,000 2,300 37,700
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SN 2AAMD
MY ALS
el JI=Ee S (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
=2 24,000
z 16,000
02 PIZIXHEARIE E (01 M THE) 40,000 2,300 37,700
ot 100, 00024 *250CH 25,000
2 15,000
E 10,000
OF S 600, 00024%25CH 15,000
= 9,000
z 6,000
EH2E oAl 84 15,000 25,000 210,000
307 QIZHOIX 15,000 25,000 210,000
02 QIZFAAAIEE 15,000 15,000 0
OXISIHsYAEls| At
15,000, 0002 15,000
BAZY SMAE D28 Y 100,000 0 100,000
= 70,000
z 30,000
207 IR 100,000 0 100,000
= 70,000
z 30,000
01 iR 100,000 0 100,000
OBAZY =ML JI|2HE 48
100,000, 00024 % 14! 100,000
2 70,000
E 30,000
XSSt 22 5,660,830 3,556,000 2,104,830
= 3,011,450
= 813,635
E 1,835,745
HMIIXFSRE 70§ X 1,146,500 1,335,000 188,500
2 500,000
= 200,000
z 448,500
201 Ler2g| 1,500 1,500
01 Al222H 1,500 0 1,500
O&s= 250, 0002 *6CH 1,500
402 BIZEXH201H 950,000 1,080,000 A130,000
2 475,000
= 195,000
E 280,000
02 QIZHKHE AR (ORI TH ) 950,000 1,080,000 130,000
OFIINER FOHXI
10,000, 0002 *95CH 950,000
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A EASIM
3. #3ES
Pl XSIHHEIIARE) (choy: 242
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 475,000
= 195,000
o 280,000
405 AHAHFSHI 195,000 255,000 260,000
= 25,000
= 5,000
i 165,000
01 ML =ZF SHI 195,000 255,000 260,000
OSEHIIXSAE 20K
39,000,000 +5CH 195,000
= 25,000
= 5,000
i 165,000
HI=t= SR 00 K& 2,023,500 1,115,000 908,500
= 1,400,000
= 300,000
o 323,500
402 212tX=01H 1,980,000 1,080,000 900,000
= 1,386,000
& 297,000
i 297,000
02 QIZEXH=AL 22 (01 THE) 1,980,000 1,080,000 900,000
O&J|et=2 NSt FHAIA
20,000,000 *99CH 1,980,000
= 1,386,000
& 297,000
i 297,000
405 XH&HFSHI 43,500 35,000 8,500
= 14,000
& 3,000
i 26,500
01 AL ESFISHI 43,500 35,000 8,500
OSEX|==XSAE 20H
43,500,000+ 1CH 43,500
= 14,000
& 3,000
i 26,500
HII0IER 200 X 16,000 18,000 22,000
= 8,000
& 2,400
[ 5,600
402 BIZtAH=01 M 16,000 18,000 22,000
= 8,000
= 2,400

- 620 -




SA: BHeM
M AV
EHel: KSXHHEItA R (chel: x421)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 5,600
02 QIRIK=AI B X (01 &) 16,000 18,000 2,000
OFII0IZXt ROHKI
1,600,000 % 10CH 16,000
2 8,000
= 2,400
2 5,600
A HEIIE M2ZAFY 2,159,830 1,088,000 1,071,830
2 1,103,450
= 311,235
2 745,145
201 LBr2AH| 2,430 0 2,430
2 1,215
= 365
2 850
01 AF=2r2lH| 2,430 0 2,430
OXI|HIX A 248 3,00021%8102H 2,430
= 1,215
= 365
2 850
402 BIERFR0| & 2,157,400 1,088,000 1,069,400
= 1,102,235
= 310,870
2 744,295
02 QIIKHE A B E (01X TS 2,157,400 1,088,000 1,069,400
OXJIHIXt X (553)
1,600, 0002 *680CH 1,088,000
2 542,785
= 162,835
2 382,380
OZXJIHX XI”(4S2)
4,000,00021% 130CH 520,000
= 260,000
= 78,000
2 182,000
OAEIA HIXHXIZ 3,730,000 %30CH 111,900
= 55,950
= 16,785
2 39,165
OHHEItA MART SRR
3,300,000 *50CH 165,000
2 82,500
= 24,750
o 57,750




2AM:
X{XH -
o /e

cH):

S B SRI(BH) - HRAY - BAS

PIE]=>
e

OAEI A A& WHIXIZ

OLPGSt= Xt

TH0
>
=
o
|
o

16,500, 000 * 15CH

HH W

1,000,000 <2504

HoH W

247,500
148,500
24,750
74,250
25,000
12,500
3,750
8,750

SOINSI SHAE XA

315,000

315,000

401 AIZHIZL 200

315,000

315,000

01 Al&H]

OIS SHAIE &X

45,000,000 7 IH 2~

315,000

315,000

315,000

Jx

Hae| 3

id

CH

g

&

M H

e

,517,456

754,000

8,510
226,673
528,273

1,610,392

N92,936

=dI0IE XelXi&

Mo A

e

,508,000

754,000
226,200
527,800

1,610,392

A102,392

402

gI2tA=01A

Mo A

e

,508,000

754,000
226,200
527,800

1,610,392

A102,392

Jo

Ateit|

O=& &dIolE EA

OHI=& £201E EA

O=& &dI0IE XNSHE

3,520,000&*320=

Mo A

5,383,2403*37=

Mo A

6,290, 340329

Mo A

e

e

,508,000

, 126,400

563,200
168,960
394,240

199,180
99,590
29,877
69,713

182,420
91,210
27,363
63,847

1,610,392

A102,392

< 0

1z
r_l.l.
=l
ol

[oH =2 Al

9,456

9,456
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SA EAIMD
Hu: 2AP5
Chol: ADiZl2| ZEHCHH

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
J| 8,510
[ 473
= 473
301 YEHEAS 9,456 0 9,456
7l 8,510
[ 473
= 473
01 ALBIERE G2 (ZDEXHR) 9,456 0 9,456
O S T G2 Al 788,000 %122 9,456
7l 8,510
[ 473
= 473
NEEENCE] 768,625 677,712 90,913
= 32,000
[ 13,489
= 723,136
INEEELES] 240,162 128,912 111,250
NEEEFSPNEESY] 76,262 84,612 8,350
101 Q124H| 55,483 52,361 3,122
04 2RISR 55,483 52,361 3,122
OXEs 2 sHatxae| 55,483
0o1=s 76,9602 1801x30 ! 41,559
0= Ext=g 76,9602+ 1801+62 8,312
== 49,871,0002%4.5% 2,245
0ALEE 49,871,0002%3.545% 1,768
0= IRSEE 1,768,0002%12.81% 227
01E=E 49,871,000 %1.75% 873
OMHHEE 49,871,000 * 1% 499
201 L2 S 5,100 3,400 1,700
01 AFRZ2IHI 5,100 3,400 1,700
OLts=2Y] 5,100
0F=Q8aix| 340 M=
55,0002%207H A 1,100
0FQ8aX ZAHE B2 M
2,000 *4007H 800
02X Hagts 257
200,000 %671 A 1,200
IRFHtMES 28 227
1,000,000 %2& 2,000
206 XHEH| 600 400 200
01 XH2H] 600 400 200
OORMSIEHX| SHXILYE HLAIRE 7
300,0002%2% 600
301 Y2 A 2,500 15,872 A13,372
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SA EBEAM
M XHEH 25
el AdadE2d CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
11 A2 2,500 2,000 500
OZALE XHeIES HAINS &4
2,000,0002 2,000
OXNHESE2Y NIEA
50,0002 %501%22 500
307 2I2t0lA 12,579 12,579 0
04 DIZFHAFAIRIE X 4,000 4,000
OXNASSES HAKIA 2,000,000 2,000
OBIEL 2ZHF AKX
2,000,0002 2,000
06 282 8,579 8,579 0
OSAX &8 S MoHLXE 28It
130,000 %491 520
$2| TIHYXIS 2SIt (128)
237,01021%349! 8,059
MERH W QHsAS EX 3,900 4,500 AB00
301 LBEAS 3,900 4,500 AB00
EVEINEE] 900 1,500 AB00
OXLS L AFXA FHAZ2 EIXIBAL &
H2Y 30,0004%3001%13] 900
14 JIEtE A2 3,000 3,000 0
OXLS L AZXA WSS EXIARI(O
=) 10,0002 +300kg 3,000
NN 160,000 39,800 120,200
301 LBEAS 160,000 39,800 120,200
14 J|Et2 A2 160,000 39,800 120,200
ORAOMESS X
70,0002 %201x703] 9,800
ORorse 28 243 140,000
2N 100,0001+7005 70,000
0102t 50,0002*1,400% 70,000
OOMMSE TN RIS TI=H| X
300,000 %3491 10,200
OHMEAIZE 5L 22| 508,463 548,800 A20,337
= 32,000
[ 13,489
z 482,974
ORSS SXSUH 24 12,963 15,000 A2,037
[ 3,889
= 9,074
301 LBE A3 12,963 15,000 A2,037
[ 3,889
= 9,074
14 J1EtE A2 12,963 15,000 2,087
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SN BHAD
M Kol 85
Crel: OHEAlEE S e (crol: xi21)
SA B E(BH) - HRAY - BES Gl HIDS2
OOMSE SXZT
12,963,0002 12,963
[ 3,889
2 9,074
O =2 LIGHOIZ AL 515,500 533,800 18,300
= 32,000
[ 9,600
= 473,900
206 24| 8,000 8,000 0
EE 8,000 8,000
OOMMES TIHZ AN X<
25,00024%3207H 8,000
402 QI2HKH=0[® 507,500 525,000 A17,500
= 32,000
[ 9,600
2 465,900
02 QIZXHE AN S 507,500 525,000 A17,500
OO SSTIGHH AL X2l
2,500,00024%2037+72 507,500
= 32,000
[ 9,600
2 465,900
SEDf 622,585 492,568 130,017
SN C2e 622,585 492,568 130,017
SEHASH 22,122 21,178 944
101 2124t 94 880 44
04 JIH22XSEES 904 880 44
O%EQHEALD o
76,9702 x601%23| 924
201 LBty 9,598 8,698 900
01 Atz 9,360 8,460 900
O%EQAAD & QU(QUHA
s) 500,0002+6% 3,000
O%=EY YHIAH Fe
200,00024+5% 1,000
O%EQHEALD 2
500,0004x23] 1,000
OANEZIFE A2Z 2
200,0002*4% 800
O2EQUEAID 2EAA 228
100,000&4%1024 1,000
OSZH|(BEXE 2=
8,000 *401%80A! 2,560
02 222y 238 238 0
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SA: B
HE: SERM
G sAX 2922 (Ctol: ®M2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
S ENERE-EEE T ECIIENE)
= 19,8002 % 1C* 122 238
202 Ot 11,600 11,600 0
NENTEL 11,600 11,600
GEEPNIH=I=ES-
200, 00024 #4901+ 122 9,600
OHHEAIA, ZESIEA TEHA
100,0002%201% 102 2,000
ZEIEA 212 561,493 391,420 170,073
201 LB 63,586 30,820 30,766
01 AtR2Hel| 53,600 20,860 32,740
OBZFEA 2asH2
25,0002 *80IH Ax23] 4,000
OZE5IHA HOEZ PYU(HATT S)
25,0002 +807H A#23 4,000
OR=3HRAl 3R Y
35,00021 807§ A *23] 5,600
OO0ISAIBIAAl QX2 (MAZE ZH|, #AF K|
2) 5,000,0002 %83 40,000
02 22| 9,98 9,960 2%
O2=31EA M3
21,67024*30H A %12 7,802
OZEsIHA £223
18,4002 *501 Ax 122 1,104
OR=31RAl HAME2
5,000 %187 A 122 1,080
307 eIztol™ 164,007 163,200 807
05 DIRtQErZ 164,007 163,200 807
OZE5I&EA X2
170,84021 %80 A* 122 164,007
401 AlEHIZ 20| 333,900 197,400 136,500
01 Al&H 333,900 197,400 136,500
OZZEFIHA! HH|(ARDReH)
280,00024*807H A 22,400
OZESIAA! HA| 0 1120118 Hlar A
Al 1,000,0008!% 13742 13,000
OZESIEA AL WM
25,000,0002 %204 A 50,000
O0ISA! BE5IEA 20H X
60,000, 0002 %471 A 240,000
OzZt0lst&4al 4X| 8,500,000 %14 A 8,500
L2ATH(SAF §AF) Al AIAE 22 16,970 79,570 62,600
201 LBty 16,970 16,970 0
01 Atz 11,575 11,575 0
OANBRSTHREER AR M
2,000,0002*23] 4,000
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SN SEAM
HEM: SEHA
G sAX 2922 (Ctol: ®M2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OASXSHFEXI 01&H]
2,000,0008423] 4,000
OAFAlZ AL 24 55,0002 %653 3,575
02 222 5,395 5,395 0
OABXSHEEX SHRS
20,0004+ 13H Ax 122 3,120
OASXSHHEEX I3
10,0004 * 137 Ax 122 1,560
OAFAE 27 QBRI =
5,50024* 137 A 10 715
IEEL HHEAL 22| 22,000 22,000
207 SN 22,000 0 22,000
01 A 22,000 0 22,000
OJIEAISHEI R XE@TH BHA DAl 2
3 22,000,000 22,000
RS 972,248 647,178 325,070
= 39,000
[ 26,610
= 906,638
RS 972,248 647,178 325,070
= 39,000
[ 26,610
= 906,638
NEES SRS 225,219 256,472 A31,253
101 Q124 41,559 39,572 1,987
M IIHR22ISEES 41,559 39,572 1,987
OZ 2 - 5t&EE MY I|4H oL
76,96024x2001%27 41,559
201 L2 A 45,710 39,450 6,260
01 AFRZH2IHI 8,160 6,560 1,600
OHE&sS =) 28t| 500,000 %23] 1,000
OMEH RHEDIZS A £42
3,000,000 3,000
OSZH|(RH=EAREX)
8,0002 *401+80A! 2,560
OSY 2 2= 2y UXH|
800, 0002 *2CH 1,600
02 222 37,550 32,890 4,660
OB=2HDI283/HI(HE/HI)
3,000,000 3,000
OHDISADES 2L QB3
43024%3,0002 1,290
OMSMYD| £EE 26| S RS
1,000,000 %74 A 7,000
OSHEI| 2APH2E |XIES
2,000,0002* 1174 A 22,000
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S BAAMD}
M IpRa=srn|
Gt ARl=&ta2e| (che]: X Sl)
; _ _ bSIE]
2AM -3 . H2(3H) - MRAEY - BES 0 AroH Om,jo% Hns2t
OS] ZAStH2 &L=
6,250 * 122 =4 A 300
OUEHDIS Y ADAIAEH 0|8 £z
=3 330,000 * 12 3,960
202 09H] 11,600 11,600 0
01 2LH0IHI 11,600 11,600 0
OX2&=EA R 284
200,000 *401x 122 9,600
O 22 43
100, 00021*201% 102 2,000
206 M4l 4,000 14,000 210,000
01 =4l 4,000 14,000 210,000
OUEEHDIZ 42 YRLE U EHE))|
Cis 242 AEIH M
2002410, 0000H*2E 4,000
207 RIHE| 19,000 0 19,000
01 ¢ REAH 19,000 19,000
OX2 =S T A E S8 2H
19,000,000 * 14! 19,000
301 YetEE=Z 1,350 1,350
14 J|EtE A= 1,350 1,350 0
OSHae A0 B4 1,350
oMgD| S-S 50,000%10A 500
013I2E AZ27H <l
35,0002 %102 350
OERIHDIS A0 2A&2
100, 0002 %524 500
401 Al&HIL S0 102,000 150,500 248,500
01 Al&H] 102,000 150,500 A48,500
OMEMYD| SBHED|2X| 2HE = &X|
200,000 1570 A 3,000
O0ISAl M0 2YED| 2AIDH0I2H &X
4,500,000 %2204 A 99,000
He2E T A5 222,000 178,520 43,480
201 YEr2%H] 18,400 43,520 A25,120
01 AFR22IH] 16,400 35,520 219,120
OMYID| 22ItiE E22 M
300 *4Z+1,5000H 1,800
OMEEE nst 22 1o
3,00024%3E+1,500H 13,500
OMYD| HHE 2t 8 829 H=
55,0002 *200H 1,100
02 2229 2,000 8,000 26,000
OMSMYD| HISOHNE SXIE2=
400,000 570 A 2,000
206 MEH| 153,600 10,000 143,600
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SA: BB
HM: RpRsae)
el HaEgete) CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 XHEH] 153,600 10,000 143,600
OHlset £H8 4X 500, 0002 *70H 35,000
OMYD| BN M $HE &R
1,000,000 % 100H 100,000
OMEZEHXIN M= 300, 000 %40} 12,000
OHloletE 224018 &X
300, 00024 117K 3,300
OF28RHIIS 22l4+HE &R
300, 00024 117K 3,300
401 AlEH| 22 OHH 50,000 125,000 A75,000
01 Al&H] 50,000 125,000 A75,000
OMESHII2 $EE 26| 4R
2,000,000 %2504 A 50,000
HEE2E SEXASHEX) 315,000 28,600 286,400
= 39,000
[ 16,500
= 259,500
401 AlEH| 22 OHH 315,000 14,800 300,200
= 39,000
[ 16,500
= 259,500
01 Al&H] 315,000 14,800 300,200
o2 sHIorg X XA
15,000, 0002 %2074 A 300,000
= 37,500
[ 15,000
= 247,500
OHHIY ZSXGIE &5 XA
5,000,0002 %374 A 15,000
= 1,500
[ 1,500
= 12,000
I=HII2 SHHIAY 10,208 2,000 8,208
[ 2,100
= 8,108
401 AlEH| 22 0HH 10,208 2,000 8,208
[ 2,100
= 8,108
01 Al&H] 10,208 2,000 8,208
OYsHIIZ $+HX2IAIY
352,00021+29E 10,208
[ 2,100
= 8,108
HIISHRIAIE FHINA FoIXRAAY 35,000 75,000 A40,000
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SA: SHA
Hm: Jp=gae
CHe: XRleEae) (Crof: M2l
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
402 QI2FXHE0| & 35,000 75,000 240,000
01 QIZFRF2 A E R (XHRITHS) 35,000 75,000 240,000
OFAH & TX = 9 ME)| 0|8 L AlM 35,000
0=AF & & XN 20,000,000 % 14! 20,000
0&ED| 0|8 L Al
15,000, 00024 14! 15,000
MEH |2 22/thE SR0IALY 164,821 106,586 58,235
[ 8,010
= 156,811
101 QI124H] 162,521 102,450 60,071
[ 8,010
= 154,511
M IIR22IEES 162,521 102,450 60,071
OMEHII2 22HHE 20| 162,521
0olE= 76,960 +601%2232! 102,973
[ 8,010
z 94,963
0F=xt==< 76,960 *601x472! 21,703
0 Xt 76,9602 +621x 102 4,618
0=21%= 124,676,0002 %4 . 5% 5,611
0HLEE= 124,676,00024%3 . 545% 4,420
IRLEE= 4,420,0002%12.81% 567
0LEEE= 124,676,00024%1.75% 2,182
0MHHEE = 124,676,0002x1.0% 1,247
0I=H Y oHNEE 2o
200, 0002%60! 1,200
0== 20,0002 %301x200L! 12,000
0241 5,000 *621x200L! 6,000
201 LB A 2,300 4,136 1,836
01 AFR2t2IHI 2,300 4,136 1,836
OMESHI|I2 22HE TR0IMY 29 2
2= g 2,000,0002 2,000
OHERR = K= 100,000 %301 300
MEH D | 222 3,548,271 4,966,453 A1,418,182
= 38,000
[ 12,000
= 3,498,271
MEMYD| 242 3,548,271 4,966,453 A1,418,182
= 38,000
[ 12,000
z 3,498,271
MEM| | LA 883,625 1,230,122 N346,497
101 Q124H] 264,702 466,992 A202,290
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SA: B
M MEH)|22e
T MEBIMYD| e
SA - HH - BRI(SIH) - HRAR - B S
04 JH22XNEES 264,702 466,992
OSHAIIX BA 227 214
0=z 76,9602 x801%2442 150,226
(ESES=] 76,96024 801 %522 32,016
0 R RE 4L 76,96024%801% 11 6,773
0g|=2 2,000,000+82! 16,000
0201012 182,241,280 %4 5% 8,201
oHARE= 182,241, 280213 .545% 6.461
02| QUBEE 6,461,0002*12.81% 828
EEET 182,241,2802%1.75% 3,190
OMHEE R 182,241,280 % 1% 1,823
0OIHEE(0IMS S) 2
106,000 %821x23] 1.6%
OBI&ED| SHats =T 2H XY 15, 154
ez 76,9602 %401x352 10,775
0=xt 2 Axtay 76,9602 *401+82 2,463
0201012 13,237, 1202 %4 5% 59
(=Rl 13,237, 1202 %3.545% 470
0Z)|QuEsE 470,0002%12.81% 61
0nNEREE 13,237, 1202%1.75% 232
SN=ETE 13,237, 1202 %1% 133
0OIHEE(0IMS S) 2
106, 0008 x42! 424
Ot ZQRR| =8 MSMI| L Iy
H2Z 4 22,334
0Jl=z 76,9602%301x70L 16,162
0F=RpE 76,96024301% 132 3,002
0 XIR2EIY 76,96021%301+32 693
0=pIi=2 19,163,040 +4 . 5% 863
0HLEEE 19, 163,0402!%3.545% 680
0Z|QUBEE 680,000 %12.81% 88
0NELE2 19,163, 0402 % 1.75% 336
S=ETE 19,163,040 % 1% 192
0QIMEE(0tMS S) g
106,00024*30113] 318
201 LBty 14,428 0
01 Atz 14,428 0
OHAAREARH(EHEZ = 14,428
0EHZRZE 0= 12,283
oY= 50,0002 x3121x20H 3,100
o st 60,00024%3121x 1} 1,860
02l 50,00024%3121%1J4 1,550
0 OHE 3t 70,00024%3101%274 4,340
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A BERMD
ME: MBI |2 22
Chel: MEtMyD| 2e| CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
00OrM T 5,50021%3121%20H 341
[oRelFS )] 17,6001 %3101%2H 1,092
0AZLUMZPA =3¢ 1,545
oMY= 100,000 #4201 %2} 800
0 CHM Bt 70,000 %401x20H 560
0QHAD 5,500 *401x2H 44
0 OHE )| 17,60021%401x2 74 141
SEHDISESHIE 22K T2t
150,000 %401 600
206 X=H] 275,9% 218,630 57,365
01 X224l 275,9% 218,630 57,365
OMYD I ZLHES(SE) ME 300
UBHZ(PPILLY 20216 ) 300,0002*17H 300
OSAlE ME8)| 7(12021E)
50,0002 100H 5,000
OMYD| ZLHES HIH 267,280
02er=(32IH) 292120, 0000} 580
0L BH=(521E) 342150, 0000H 1,700
028t (1021E) 422150, 0000H 2,100
02 B2 (1021E) (RHALR)
4521%150,0000H 6,750
02 BHE(2021E) 6321%50, 0000H 3,150
0L B (2021 ) (RHALE)
66-2%300, 0000K 19,800
028t (5021E) 13624150, 0000H 20,400
02 EHE (202 E{DHCH) 48094%200, 0000H 96,000
02 B2 (5021 E{DHCH) 55021%200, 00004 110,000
033&(502IH) 13621%50, 0000H 6,800
OSAlZMY)| ZSHEE S HME 3,415
0SAISMYDIZ2E(32IE)
2821%10,0000H 280
0SAlSMDIZ2E(52H)
3724%25,0000K 925
0SAISMYD|IZE(1021E)
5221%25,0000H 1,300
0SAISMYD| LHRES
2621%35,0007H 910
301 LEEEZ 10,500 10,500 0
14 JIEIE A2 10,500 10,500
ONEBEE 2xBAZ 2 &2
35,000,000 *30% 10,500
405 KHor S| 318,000 509,000 A191,000
01 ML SEF SH| 318,000 509,000 A191,000
MBMY|D|A)] LEEA gl
6,000, 00024*30H 18,000
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2A:
X{XH -
o /e

ek

f

24| 4 Dt
HoI222)
BYD| e

0z 02
ot i

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OMEMY I £t 2
150,000, 00024 *2CH 300,000
HOISZZX2AE2Y 1,546,666 2,653,058 A1,106,392
101 I2AH] 274,835 237,558 37,277
04 JH22NEES 274,835 237,558 37,277
OZ0I2SErD?| U HHEQ 012 171,736
0Jl=z 76,9602 %601 %2442 112,670
(ESES=] 76,9602 *601%522 24,012
0BRSS EIY 76,96024+601% 152 6,927
0201012 136,682, 0002 *4. 5% 6,151
oHABEE 136,682, 0002 *3.545% 4,846
02| QUBEE 4,846,0002%12.81% 621
ongssz 136,682, 0002 * 1. 75% 2,392
OMHEE R 136,682, 0002 * 1% 1,367
0El=2 2,000, 0008569 12,000
OHEEMY 012 oI5 U IMEE g
150,000 %50! 750
OMgxel I el 33,578
0ol== 91,2702%101%2442 22,270
0F Xt 91,27021%121x52 4,747
(Jbyisi=Sa= 91,2702 *101%152 1,370
0=pIi=2 27,017,000 +4. 5% 1,216
oAUEEZ 27,017,0002*3.545% 958
(ESpi=lll="E 958,00024*12.81% 123
ongsss 27,017,000 *1.75% 473
AHHEE 2 27,017,000 1% 2r1
WEEE= 2,000,000 *10! 2,000
00rM3 2 oHMEE o
150,000 % 10! 150
SEHDISESHIAE T2 28,501
0Jl=z 76,9602 %101%2442 18,779
0Fxtgt 76,9602 % 101x52 4,002
0BRSS EIY 76,96024%101% 152 1,155
0201012 22,781,000 *4. 5% 1,026
oHAREE 22,781,0002*3.545% 808
02| QUBEE 808,0002%12.81% 104
onEREE 22,781,0002%1.75% 39
EEE 22,781,000 1% 228
05122 2,000,000&*10! 2,000
ONHZR F=BIX|Q Bt ol2o 9,165
= 76,96021x101x90 6.927
001Xt & =Xt 76,9602% 10117 1,309
0201012 8,236,000 *4 . 5% 371




A BERMD
ME: MBI |2 22
T MEBIMYD| e (chel: x421)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
0HLBE2 8,236,0002%3.545% 292
0-0IZD | QUBEE 292,0002*12.81% 38
0ng2E= 8,236,0002%1.75% 145
AHHEE 2 8,236,00021% 1% 83
ONSELHE 2ZIHBR2Z S) HNE
Z Q9 3,450
0IMEZE(HNS S) 150,0004%230! 3,450
OEE ME4 28,405
0Jl=z 76,9602 %101%2442 18,779
(ESES=] 76,9602 % 101%522 4,002
0 XIR2EIY 76,9602*101% 11 847
05122 2,000,0002/%10! 2,000
0=pIi=2 22,780, 1602 +4. 5% 1,026
oAuEEE 22,780, 1602 *3.545% 808
0| QUBEE 807 ,5572%12.81% 104
0nELE2 22,780, 1602*1.75% 399
SN=ETE 22,780, 1602 * 1% 228
0QIMEE(0IXS S) 7o
106,000 %124 x23] 212
201 LBr2 | 844,199 550,883 293,316
01 A2l 107,485 84,891 22,594
Oget+2H| 98,565
0J|Et=2H| 1,000,00024% 13 1.000
0ROIZBIAIAE 42 7,920
oEEan 330,0002 122 3,960
YRS 330,0002 122 3,960
oHEedEE 2 16,200
02AEI| 29 2,000,0002*43] 8,000
OUEHEY LxM Y
1,5002%5,000kg 7,500
oY E T 70,0002 %1074 700
OFD|oHE 22 TS =42 (IR
190,000 % 12 2,280
ODHRIZ: HARSL2(SEBAL AN 17,157
oEELIA 401, 2002 *4 ) A %43 6,420
oEESYES 401,200 %123 4,815
o KIGt4-2ALA
164,500 +8 ) A *43] 5,264
0 S SHHHIAIA 164,5002 %43 658
OAIEZZOHZE HASLB(SEBAL, B
JIZAH 45,758
oEELIA 401,20024%2) A *43] 3,210
o XIGt4=2ALH
190, 7802 *20H A% 123 4,579
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SA SEAMD
I MEHI |22
Tl ABMY(D| 2te) (crel: 22l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
o HIEIIA 200,650 21274 A 402
0 EYRET(ULtE=)
1,300, 20024 %2 A4 K| E 10,402
0 ELRQAT(CIOI2A!)
2,000,0002 *2JH A*4 K| & 16,000
o KIBHOHEE AL 2,475,000 13] 2,475
OAEEZURRE FIIZAHERI, )
4,345,000 %2JH A 8,690
0=pI=2A8 22 2Y(HIF S)
3,0002%55 1504 2,250
0EEE o 350,0002+63] 2,100
OAE2YE SER(IIA 5)
10,0004+ 10Z+5J1*33] 1,500
OMHIZHEE IR SUSERU(LEIS
) 80,0002 +65+53] 2,400
OSHB2X NLHBH|(S2 S)
60,0002%3101x13] 1,860
OEEEIEEINEI=I=E=S)
8,0002 *401+80A! 2,560
OsFZRE 2 JIN22 X HEe HES
2 =g 100,0002%201%53] 1,000
ONEPSZHIISEEHIE Hsd =
£ 600,00024%13] 600
O2EXY Y et 250,0002 %23 500
OsZHIISEEHRIE otE2eDIerE
200,00021% 18] 122 2,400
02 229 736,714 465,992 270,722
02020 HIISHESSZ(MEHIIS) 145,000
HEx = 15,0002/+7,000 105,000
042K = 10,0002/%4,000= 40,000
oFIIe=2 22,792
OSZHIISSEH2IAIL (I E)
1,711,300+ 12 20,536
0JHH A2 EZ0HEHE 18,0002 12 216
22| NRE20HYE 170,0002 122 2,040
ORI 316,800
0==Ch 1,600,000+ 12CH*12& 230,400
0=AI=2= 600,00024* 120 122 86,400
Oz41| 15,900
sl 1,85021+5002| E{* 122 11,100
S X 2| 200,000 *20}* 12 4,800
OXIAI Xt 3,422
0=SCh 1,850 *462 | E{* 122 1,022
0= X2t 100,000 *2CH* 122 2,400
oENg=r= 4,800
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SN SEAM
HIM: M |I222
Chel: MEtMyD| 2e| CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
SEES 400,00021% 122 4,800
OSASMYD| QIEtHR £42 228,000
0SASMYD| fIEHH
190,0002% 1,200 228,000
202 04H| 12,320 9,200 3,120
01 2oL 12,320 9,200 3,120
OSHAL AR 43
200, 0002401128 9,600
OEIZAIE IR
100,0004x201% 102 2,000
OSHABLIA AR $2|H2FX
30,0002 %101x243] 720
206 THEH] 259,657 224,017 35,640
01 x24I 259,657 224,017 35,640
ONEHEFHIS YA K58 2 6,732
0Z% 1,850 %8202 | E{+4 2 6,068
0Fes 1,660 1002/ E+4 2 664
OMHIZEEH2IZE EE4xe A=Y 112,685
W=RIE 12,60024%2,0002| & 25,200
otat 12021%580, 0002 69,600
0JHE AL 16,6002/ +50S 830
OgHAtE 22,5504 1002 & 2,255
QCHEIAAHILRHE 37,0002 %4002 £ 14,800
OMHIZEEH2IE 2F B 1Y 123,990
oiEyQl 32,000,000 *37H 96,000
0IIERIXIZEH 7,200 %2, 0004 14,400
OpH HIA 1,000,000 %2H 2,000
OHIOITHA HE WA 1,000,000 *1CH 1,000
0FHIINME EBADE
3,000,000 1CH 3,000
09 22 B 2,000,00021%1CH 2,000
02 23 HZ 1,840,00024*1CH 1,840
0ZE24(R/0)HMEIANE 2" 2Z71¢
250,000 x5Z+33] 3,750
OMEE HE2E 2201 P
6,5002%2, 5000K 16,250
207 S1RIHEH 22,000 150,000 128,000
01 A 22,000 150,000 128,000
OAZE, HESHET =4 EIGATA &
JEHE L 2 22,000,0002* 14| 22,000
401 Al&H| 2 S HY 126, 155 1,253,400 A1,127,245
01 Al&H] 126, 155 1,253,400 A1,127,245
OAZ2 2 7,500,000 %24l 15,000
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SA: SHA
HIM: M |I222
CHRl: ASMY|D| 22 (Crof: M2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Olfglg 20 28 dxt2
650,00021*3CH+63] 11,700
Q&4 SYXFX A
5,000, 000413 5,000
Oz Zze2 A2 21 7
14,8502 %300 ™ 4,455
OsZHIISXEHEIE S =AY
5,000,0002 %23 10,000
ODNZIZ BAIY TpAlA B2TA
60,000,000 * 14! 60,000
ONEEHEH MS DHBA
20,000,000 x 14! 20,000
405 KHAHE SH 7,500 0 7,500
01 AU SEF S| 7,500 7,500
OAX HASII 2L
2,500,000 * 1374 A 7,500
SZEHHIY $HEA2 62,000 62,000 0
= 12,000
[ 12,000
z 38,000
301 YB3 62,000 62,000 0
= 12,000
[ 12,000
z 38,000
14 J|EI2 A2 62,000 62,000 0
SEHHIY +HEA2
10024%620, 000k 62,000
= 12,000
[ 12,000
z 38,000
A2ZAL 2 1,003,478 1,021,273 A17,79%
101 QI124H] 464,989 433,670 31,319
M IIHR22ISEES 464,989 433,670 31,319
OAZAIL S22} 22 464,989
0olE= 91,270 +821%3482! 254,096
0=Xt==< 91,270 *801x522! 37,969
0z U224
11,4002 %801 % 16 Al 2 b+ 1224+ 150% 26,266
002245
11,4002 %821 x80 Al 2+ 1224 *50% 43,776
00X Z IS 91,270A*801x 152! 10,953
02522244
91,2702 %801 172 x250% 31,032
0=21%= 292,064,000 %4 . 5% 13,143
0HBEE= 292,064,000 %3.545% 10,354
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SN B
HE: MEHD S22
CHel: MEMYD| 242 CEREERD
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SRR 10,354,000 12.81% 1,327
nESEE 292,064, 00024*1.75% 5112
MMEE=Z 202,064,000 %1% 2,921
(SRS = 3,000,000 %80! 24,000
0AUAIA 22X OHE3E L OHMEE o)
200,000 *821%23] 3,200
0AUAIA 22K SELHAAEA
70,0004 %1201 840
201 LB A 438,234 442 915 A4, 681
01 AFR22 2| 226,840 243,715 A16,875
OA2IAIAE CHOIAI 2AH
5,000, 00024*13] 5,000
OFD|HEBIZ| as42
600,000 122 7,200
OAZAIL HISIHA TIIER 42
2,200,000 *483] 105,600
OHZE U2 HSZALZZAL
250,000 *13] 250
OHZEU A2 8,000, 0002413 8,000
Ostamogs2 900,00024%13] 900
OHIAH IEtx 2] 4,500,000 %123 54,000
OHIA 22+ S0HH 6,0002%2500H 1,500
OZYWaD| AHY HA
1,000,000 %23 2,000
OA2AIE ZIINED| A2
40,0002 *4CH+ 122 1,920
OMHID| HE T2z 46
5,000, 00024*13] 5,000
OAZIAIAE @LHelAl" HA
120,000 %13 120
OAZAE ESSHEE HA
1,500, 0002413 1,500
OA2z 29 2= 9
1,000,000 *63] 6,000
OA2R JIHE ARS 24
2,500, 0002143 10,000
OAZAIE 22X MIE=E 20
800, 0002* 123 9,600
OB SOFMBIRIXF DR
150, 0002 %13] 150
OA2AE 22X =22 29 6,600
0g=0tA3 7Y 150,00084129! 1,800
OHE0IAT FHolE 7Y
100, 0002 * 1201 %43 4,800
OSZHIISEEHLIZ(A2LE) Bre! HD|
2 Ha 24 1,500,000 %13 1,500
02 2229H| 211,3% 199,200 12,194
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2A:

o

2t

I MEHI |22
Tl ABMY(D| 2te) (crel: 22l
SN B SL(3) - MBAY - BaS Ofl b Gl RS2
OXZAIE FJIR 10,000,0002!* 128 120,000
OA2AIE ARH]
1,8002%1,5002| E{*4 2 10,800
OXIHZt 22 6,444
7= 1,850*202 | E{* 122 444
SR 1,000,000 1CH+6 - 6,000
OAIEEHIS I 31,500
0AMS BO -S|
2,000,0002%23] 4,000
02)|2%=)| A2Z DA
2,000,000 %4 5| *2CH 16,000
0222 24T DH
1,500, 0002 %23 3,000
OHDIZS £ Al 22
1,000,000 %43 4,000
04242 S£ZS WA 150,00021%20H 3,000
0R015Z)| 42| 1,500,00024 %13 1,500
0222 500,000 %122 6,000
OAZHAIA J|SEISH]
27,650,000 % 14! 27,680
OA2HAIA By Dl
9,000,000 % 14! 9,000
206 M=l 17,255 24,688 NAT7,433
01 H2HI 17,255 24,688 NAT7,433
AR 29 %EY 13,695
O ZHA| 3,200&*600kg 1,920
043 11024%9,000kg*43] 3,960
0EHAE 2,30024%1,000kg 2,300
042 8502*4,000kg 3,400
0EHH 6,000&*300kg 1,800
0HSILIES 35021%900ke 315
OA2t2 HHIE A 7Y
260,00024*63] 1,560
O22t2 QAN 25H 2
1,000, 00024 %27H 2,000
401 Al&HIL20HY] 83,000 120,000 37,000
01 Al&H| 83,000 120,000 37,000
GRIEES: 50,000,0002/ %14} 50.000
OA2tAIA J|SEIE AR 33,000
0422 32X WHIZA
18,000,000 %14l 18,000
0ROIEE)| B2 U B4XY
15,000,000 %14l 15,000
WEE2E ZEHE XA (LS 52,502 0 52,502
= 26,000
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SN SEAM
HIM: M |I222
Tl ABMY(D| 2te) (Crof: M2l
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 26,502
101 Q124H] 51,972 0 51,972
= 26,000
= 25,972
04 JIZH22ISES 51,972 0 51,972
OMSRE ZZIHM XIRAIY 018 51,972
0123 76,9602 %401 1252 38,480
= 26,000
= 12,480
0FXt=gt 76,9604 +401%052! 7,6%6
0=01013 46,176,0002 %4 . 5% 2,078
0HLEE= 46,176,0002%3.545% 1,637
RIRYEE= 1,636,9302%12.81% 210
oneessz 46,176,0002%1.75% 809
OATHEE 2 46,176,000 %1% 462
00HM3L 2 orNEE Do
150,000 %40! 600
201 L2 A 530 0 530
01 AFR22IHI 530 0 530
OMSBEEZ ZEIHH XA 2922 2
& 530,000 13 530
INEEETE 409,552 299,118 110,434
= 63,784
[ 20,413
= 325,355
QMAZSEAL A AIZOIM P42 287,952 177,018 110,934
= 2,984
[ 1,123
= 283,845
QA 9 AIZOHM 22 156,043 159, 143 3,100
201 LB 14,743 17,043 22,300
01 AF222IHI 13,543 15,843 22,300
ORSAIE ZAR 2E7Y
20,0002%15024 3,000
OO0{2I0] JISAIZ 857 TXT HH|
100,000 * 107K 1,000
OZEAMAA SEAA 28
35,0002 %1374 A 455
OXSSBAA DIMEAA 228 XIS
120,00021%507H A 6,000
OAESNY 222 X
66,0002 *x2& 43 528
OSEH(AMADREX)
8,000 +4Q1x80A! 2,560
02 2229 1,200 1,200 0
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SN 3R
M AES MR
Rl PUS-EEY 2 ASoHN2AL (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 A2t 2,622 2,588 34
OSHIAIY XIH 29 EFSE Xg
262, 2002 %104 2 2,622
= 1,311
& 393
i 918
HIoCIEte 243t Al 100,000 0 100,000
401 AIEHIKL 2] 100,000 100,000
01 Al&H] 100,000 100,000
O%elEtz da 2d
100,000,000 14! 100,000
020l HEHel etdate| Hat 121,600 122,100 A500
= 60,800
& 19,290
i 41,510
OelopDIEAE dgAcld 28 3,000 3,500 2500
= 1,500
& 1,500
301 Et2AS 3,000 3,500 A500
= 1,500
& 1,500
14 JIEt2d= 3,000 3,500 A500
OO0{glol HE=01el ZAIR gl
50,000&+621%102] 3.000
= 1,500
= 1,500
Olglolsal2el N2 dE 29 118,600 118,600 0
= 59,300
< 17,790
i 41,510
307 2I2+0| ™ 118,600 118,600 0
= 59,300
< 17,790
i 41,510
05 QIZIRIE= 118,600 118,600 0
OofglolZalZel N dE 29
118,600,000 *1JH A 118,600
= 59,300
= 17,790
i 41,510
HRes(e3A4) 57,463 0 57,463
LI HHXI= 57,463 0 57,463
HYIEX2IMNEIISEES 57,463 0 57,463
02 JIs8ES 57,463 0 57,463
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2AM:

M TE"%(%DO:‘"CI)"AOHEI')
2l WRAHNKE (cHol: M)
- _ - PSlE]
2A - ZH () - MRAY - HAS Off koK 'oﬂ/l\_}oEH HwE2Z
01 JI3EE3 57,463 57,463
OHDIEMeIAIE FHIGXZIIS(SAS
2 MY D|ISF HAAHEOHH| 10%) ME5=
57,463

57,463,000
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2023 =20l&t =EINESES N SHE 240t
A EASIM
M AN FEBHAY FH
tel: egFEae|(EINLSEE) (Ctol: X 2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
S| At 178,523 184,250 ANB, 727
= 77,000
| 91,490
i 10,033
ZAaR SEBEAY FH 178,523 184,250 N5, 727
= 77,000
| 91,490
i 10,033
ISR (+EMNLSESH) 68,523 74,250 N5, 727
| 68,523
gESEC| Hisa2 2LIEHE 23,09 22,000 1,096
| 23,096
207 AFINLH| 23,096 22,000 1,096
| 23,096
01 A =<H| 23,09 22,000 1,096
OgExae| +2E=2 tiEAd ¢
AN LB 23,096,000 23,09
| 23,096
IS OlHE I} 45,427 52,250 N6,823
| 45,427
207 AN 45,427 52,250 AN6,823
| 45,427
01 A E4H| 45,427 52,250 A6,823
OLIsA2| AIBAHE 0/HED}
45,427,0002 45,427
| 45,427
SHA L ot MY Dl HEF A (FEINESEZIA) 110,000 110,000 0
= 77,000
| 22,9%7
i 10,033
otd 2 ot MYJ| B At 110,000 110,000 0
= 77,000
| 22,9%67
i 10,033
101 l24b| 96,970 70,936 26,034
= 67,879
| 20,246
i 8,845
04 JIZHHI22 XS ES 96,970 70,936 26,034
Ootd & ot XDl Hetatg 1Y
76,9602 x6321x20 96,970
= 67,879
| 20,246
i 8,845




S RPN
HE: Poima ANPFAIY EX
Che): 9 517 Ma)| FEE AR(SEINL=SEH) (creol: M2))
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
201 et23| 13,030 39,064 N26,034
= 9,121
Jl 2,721
i 1,188
01 At22telH 13,030 39,064 A26,034
OMPDl =H &l Sit € 2225 78
13,030,000 13,030
= 9,121
Jl 2,721
i 1,188
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